

REGD/POST

Tel: 0470 - 2620574

KERALA WATER AUTHORITY

OFFICE OF THE EXECUTIVE ENGINEER, WATER SUPPLY DIVISION, ATTINGAL – 695 101. KERALA – SOUTH INDIA.

SELECTION NOTICE

No: DB1/595/2019-20/WSD/ATL

Dated: 19/01/2021

From

The Executive Engineer,

To
Sri. K.J. Sudheesh,
Vadakke Veedu,
Sarkara,
Chirayinkeezhu

Sir,

Sub;- Block panchayat deposit work- Arayathuruthy convent to Lakshamveedu road pipe line extension in Chirayinkeezhu panchayat-reg:

Ref:- This office e- tender No.140/2020-21 due on 12.11.2020

With reference to the above, contractor Sri. K.J. Sudheesh, Vadakke Veedu, Sarkara, Chirayinkeezhu is hereby informed that his tender for the above work has been accepted at the quoted by him at the estimate rate as noted in the accompanying schedule. You are requested to execute the agreement within 15 days. A grace period of 10 days will be allowed beyond the allowed date within a fine of 1% of the PAC subject to a minimum of Rs. 1000/- and maximum of Rs. 25000/- for executing the agreement and after that your offer will be rejected and the work will be awarded to the next lowest tenderer and auction will be taken as per rules and EMD will be forfeited. The work shall be started within a week after getting necessary instructions from the Assistant Executive Engineer, Water Supply sub division, Attingal.

- 1. Before executing the agreement on Stamp paper, the Contractor should deposit an amount of Rs.6,100/- (Rupees. Six thousand and one Hundred only) towards the performance guarantee in any of the Government Treasury as Savings Bank Account and the pass book pledged in favour of the under signed and produce the pass book with stamp paper worth Rs.200/- and three sets of agreement document etc. for executing the agreement.
- 2. It must be under stood that in no account will rates once fixed be increased.
- 3. The work should be completed within 30 days from the date of this order.
- 4. All the terms and conditions of the Notice inviting tenders and tender shall be binding on the contractor vide G.O. (P) 245/76/PW dated: 19/11/1976.
- 5. GST rules will be applicable as per circular No. 0023/2018/DY. AM/FIN/KWA Dt.29/09/2018 of FM & CAO for statutory deductions
- 6. The Statutory deduction such GST/IT and KCWWF etc. will be effected from the Bill.
- 7. The following are to be produced for executing the agreement.
 - 1) Stamp paper worth Rs. 200/-
 - 2) Agreement Schedule 3 sets
 - 3) Performance guarantee in the form of Treasury Savings Bank Account
 - 4) File cover 3 Nos.
- 8. Any failure in the above direction will result in forfeiture of his special and permanent earnest money and cancellation of the proposed contract and the contractor shall be liable to pay the Kerala Water Authority the entire loss that may be caused to Kerala Water Authority by the re-tender for re-arrangement of the work or otherwise consequent on the Contractor's failure to execute the agreement or execute the works provide for in clause 13 of the notice inviting tenders and all such loss shall be recovered from him under the provisions of the Revenue Recovery Act or otherwise vide G.O. (P) 245/71/PW dated: 19/11/1976.

Executive Engineer

Copy with copy of accompaniment forwarded to the Assistant Executive Engineer, Water Supply Sub Division, Attingal Copy to AE, Water Supply Section No.I, Attingal

KERALA WATER AUTHORITY

WATER SUPPLY DIVISION, ATTINGAL

ACCEPTED SCHEDULE

E-Tender No. 140/2020-21 Due on :12/11/2020

Block panchayat deposit work- Arayathuruthy convent to Lakshamveedu road pipe line extension in Chirayinkeezhu panchayat

Sl. No.	Item Description	Quantity	Units	Rate	Total Amount
1	Working charges Demolishing cement concrete manually / by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in-Charge.Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	6.00	cum	1375.23	8251.39
2	Excavating trenches of required width for pipes, cables, etc including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5 m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20 cm in depth, including consolidatingeach deposited layer by ramming, watering, etc. and disposing of surplus excavated soil as directed, within a lead of 50 m :All kinds of soil (Ref. Item No. 2.10.1 of DSR)	60.00	cum	402.98	24178.68
3	Fencing one side of trenches, 1.50 m height with two rows of 10 cm plastic caution tape in vertical casuarina pole (girth 15cm to 24cm) fixed at 2 m intervals. (Data Prepared based on PWD SDB - Item No.1009)	120.00	metre	22.12	2654.52
4	Laying UPVC pipes of class 2 to class 6 and specials, lowering to the trenches already made, placing in position aligning the pipe line to the lines and levels and jointing the pipes and specials with solvent cement and testing the pipe line with water to the required test pressure (excluding cost of pipes and specials). 90 mm nominal outer dia pipes."	120.00	metre	58.41	7009.56
5	Conveying and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. but excluding cost of pipes and fittings - External work. 80 mm dia nominal bore Data derived from item no.18.12.8 of DARData for 10 m	6.00	metre	141.28	847.69
6	Interconnection work for connecting newly laid pipe to the existing line including cost of specials, charges for controlling valves, all labour charges for connection as per the direction of departmental officers.	1.00	No	2859.29	2859.29

, ,	of approved quality (heavy duty) 80 mm nominal bore with AC pipe casing and RCC cover slab including all	1.00	No	8228.41	8228.41			
	materials and labour charges							
8	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	6.00	cum	7561.25	45367.52			
	Cost of pipes							
9	Supply of PVC Pipe, 6kg/cm2, 90mm Dia.	120.00	metre	149.00	17880.00			
10	Supplying G.I. pipes 80 mm dia with specials	6.00	metre	694.58	4167.48			
	Total				121444.55			
Accepted PAC								
Tenderd PAC			Rs.	121444.55				
Tender at estimate rate			Rs.	0.00				
(Accepted PAC) - Net Total			Rs.	121444.55				
Say			Rs.	121445				

The above work is awarded to the Contractor Sri. K.J. Sudheesh, Vadakke Veedu, Sarkara, Chirayinkeezhu at estimate rate shown in the above schedule.

EXECUTIVE ENGINEER